| Question Number | Scheme | Marks |
| :---: | :---: | :---: |
| 1. <br> (a) <br> (b) | $\begin{aligned} & \begin{array}{l} s=u t+\frac{1}{2} a t^{2}: \\ \quad 50=5 \times 4+\frac{1}{2} \times a \times 4^{2} \\ \quad \Rightarrow 30=8 a \Rightarrow a=3.75 \mathrm{~m} \mathrm{~s}^{-1} \\ 30^{2}=5^{2}+2 \times 3.75 \times s \\ \Rightarrow s=116 \frac{2}{3} \mathrm{~m} \end{array} \end{aligned}$ |  |
| 2. |  | M1 A1 <br> A1 <br> (3) <br> M1 A1 (one) <br> M1 A1 (both) <br> (4) <br> (7 marks) |
| 3. $\quad\left(\begin{array}{c}\text { a) } \\ \\ \\ \\ \\ \\ (b) \\ \\ \\ (c)\end{array}\right.$ | $\mathrm{M}(C): 16 \times 30=w \times 20+5 \times 70$ <br> (3 terms) $\Rightarrow d=55 \mathrm{~cm}$ <br> Tension equal along string, i.e. tensions $=$ weights throughout or no contributions from strings in moments equation | M1 A1 <br> A1 <br> (3) <br> M1 A2ft <br> (-1 eeoo) <br> A1 <br> (4) <br> B1 <br> (1) <br> (8 marks) |

$(\mathrm{ft}=$ follow through mark; -1 eeoo $=$ minus one mark for each error or omission $)$

| Question Number | Scheme | Marks |
| :---: | :---: | :---: |
| 4. (a) <br> (b) <br> (c) | $\mathrm{F}=\frac{2}{5} R$ $\mathrm{R}(\uparrow): R \cos 30^{\circ}-\mathrm{F} \cos 60^{\circ}=6 g$ $R \frac{\sqrt{3}}{2}-\frac{2}{5} R-\frac{1}{2}=6 g$ $\Rightarrow R=88.3 \mathrm{~N}(\text { or } 88 \mathrm{~N})$ $\begin{aligned} \mathrm{R}(\leftarrow): P & =R \cos 60^{\circ}+\mathrm{F} \cos 30^{\circ} \\ & =74.7 \mathrm{~N}(\text { or } 75 \mathrm{~N}) \end{aligned}$ $\begin{align*} & \text { Component of weight }(\angle)=6 g \cos 60^{\circ} \\ & =29.4 \mathrm{~N} \end{aligned}, \begin{aligned} & R^{\prime}=6 g \cos 30^{\circ}=50.9 \mathrm{~N} \\ & \mathrm{~F}_{\max }=0.4 R^{\prime}=20.36 \mathrm{~N} \\ & \text { Since } 29.4>20.36 \text {, the box moves } \end{align*}$ | B1 <br> M1 A1 <br> A1 <br> (4) <br> M1 A1 <br> A1 <br> (3) <br> B1 <br> M1 A1 <br> M1 <br> A1 cso <br> (12 marks) |
| (a) <br> (b) <br> (c) <br> (d) <br> (e) | $\begin{aligned} & \text { 有 } \begin{array}{l} \tan \theta=\frac{1}{2} \Rightarrow \theta=26.6^{\circ} \\ \mathbf{a}=\frac{1}{3}[(\mathbf{i}-2 \mathbf{j})-(-5 \mathbf{i}+7 \mathbf{j})] \\ =(2 \mathbf{i}-3 \mathbf{j}) \mathrm{m} \mathrm{~s}^{-2} \\ \mathbf{F}=m \mathbf{a}=4 \mathbf{i}-6 \mathbf{j} \\ \|\mathbf{F}\|=\sqrt{ }(16+36)=7.21 \mathrm{~N} \\ \mathbf{v}=(-5+2 t) \mathbf{i}+(7-3 t) \mathbf{j} \\ \mathbf{v} \text { parallel to } \mathbf{i}+\mathbf{j} \Rightarrow \frac{-5+2 t}{7-3 t}=1 \\ \Rightarrow t=2.4 \mathrm{~s} \end{array} \end{aligned}$ | M1 A1  <br> A1 (3) <br> M1  <br> A1 (2) <br> M1  <br> M1 A1 (3) <br> M1 A1ft (2) <br> M1  <br> M1 A1  <br> (13 marks)  |

(cso $=$ correct solution only $)$


((*) indicates final line is given on the paper; cso = correct solution only)

